T fE (i | LIl B HLAL
oo R L E20
fi Hl T E2V
B Hl m’
£ % + L E2V
R b m’
woom L tes m
% o+ o E T E20
%o+ K H m’
ik S T E2V
A=A X
7 % H | 35cm, H = 10cm 2 93
pu A %) RC-40 32
5 it T 18-8-40BB 36
PN it T 18-8-25BB m
72 N = TS W €)) 18-8-40BB B
ANonoik T 18-8-40BB A&
fiF H T =
B M L =
fix Y% B Ik ME| HE1100 AL | m
;’% A 7%7 zlzj]\: &
= i ﬁ%%gljﬁ %3{%?4?; aES
A H #f & T E20
A # i & BIHEE L 2L =




BB KR F K (2
T ff & Al Aol S HAL| # & fif =

&Ytk T = 1
MG EE L T 2V 1

s V% B Ik A 2 T A - Kk m 37

Fihhal]  m |w| e

gﬁ jjé H?i z % t t=10emEl F m’ 73

oo owow | S0 m 3

wow oo o | 70 70ed m 39

Ho A BT =V 1

53 e ik a7 U—h m’ 42

3 e il TAZ 7V m’ 3

53 e 53 a7 U—h m’ 42

G d vt 9 TAT 7V bk m’ 3

% o % & ; ZES S 3 5 t 0.5

i B T = 1
K = T =X 1

wi Bl HE K L =X 1

277w 7R E2V 1
2777 | A 7 T v 7 Tz A 3 t 0.5




